2~ | Product

= Applications

= Mechanismen

Mechanismus.1, Freiheitsgrad=0

—_

= Verbindungen

T@] Rotieren.1 (rad.1,fix.1)

t—@ Rotieren.2 (pedal.1,rad.1)

= Befehle

— E." Befehl.1 (Rotieren.1,Winkel)

— B Befehl.2 (Rotieren.2,Winkel)

= Festkomponente ( fix.1)

Lﬁ; Fixieren.1 (fix.1)

= Regeln

— {9 Formel.1: Mechanismus.1\Befehle\Befehl.1\Winkel=360deg * Mechanismus.1\KINTime /5s
— {9 Formel.2: Mechanismus.1\Befehle\Befehl.2\Winkel=360deg * Mechanismus.1\KINTime /5s

—Geschwindigkeiten — Beschleunigungen

TEE Beziehungen

= | |[{ Bedingungen

—all Fixieren.1 (fix.1)

—ﬁ Kongruenz .5 (rad.1,fix.1)
—a® Offset.6 (rad.1,fix.1)

—ﬁ Kongruenz .7 (pedal.1,rad.1)
—a ' Offset.8 (pedal.1,rad.1)




